

CONVERGENCE RATES IN REGULARIZATION FOR THE CASE OF MONOTONE PERTURBATIONS

ШВИДКІСТЬ ЗБІЖНОСТІ В РЕГУЛЯРИЗАЦІЇ ДЛЯ ВИПАДКУ МОНОТОННИХ ЗБУРЕНЬ

Convergence rates are justified for regularized solutions of the Hammerstein operator equation of the form $x + F_2 F_1(x) = f$ in the Banach space with monotone perturbations F_2^h and F_1^h .

Наведено обґрунтування швидкості збіжності регуляризованих розв'язків операторного рівняння Гаммерштейна вигляду $x + F_2 F_1(x) = f$ в банахових просторах з монотонними збуреннями F_2^h , F_1^h .

1. Introduction. Let X be a real reflexive Banach space having the property: X and X^* are strictly convex and weak convergence and convergence of norms of any sequence in X follow its strong convergence, where X^* denotes the dual space of X . For the sake of simplicity the norms of X and X^* will be denoted by one symbol $\|\cdot\|$. We write $\langle x^*, x \rangle$ or $\langle x, x^* \rangle$ instead of $x^*(x)$ for $x^* \in X^*$ and $x \in X$. Let $F_1: X \rightarrow X^*$ and $F_2: X^* \rightarrow X$ be monotone, bounded (i. e. image of any bounded subset is bounded) and continuous operators.

Consider the operator equation of Hammerstein type

$$x + F_2 F_1(x) = f, \quad f \in X. \quad (1)$$

Nonlinear operator equation in this form has been investigated in [1 – 3]. For solving (1) in [4] the approximate solution is constructed by the solution x_α of the approximate operator equation

$$x + F_{2\alpha} F_{1\alpha}(x) = f \quad (2)$$

with $F_{1\alpha} = F_1 + \alpha U_1$, U_1 is the standard dual mapping of X [5, p. 311], i. e.

$$\|U_1(x)\|^2 = \|x\|^2 = \langle U_1(x), x \rangle \quad \forall x \in X,$$

$F_{2\alpha} = \alpha U_2$, U_2 is the standard dual mapping of X^* , and $\alpha > 0$ is a small parameter. For every $\alpha > 0$, equation (2) has a unique solution x_α , and if S_0 , the set of solutions of (1), is not empty, then the sequence $\{x_\alpha\}$ converges to a solution x_0 of (1), as $\alpha \rightarrow 0$. Moreover, this solution x_α , for every fixed $\alpha > 0$, depends continuously on f , and the finite-dimensional problems

$$x + F_{2\alpha n} F_{1\alpha n}(x) = f_n, \quad x \in X_n, \quad (3)$$

where $F_{2\alpha n} = P_n F_{2\alpha} P_n^*$, $F_{1\alpha n} = P_n^* F_{1\alpha} P_n$, $f_n = P_n f$, P_n is a linear projection from X onto its finite-dimensional subspace X_n such that $X_n \subset X_{n+1}$, $P_n x \rightarrow x$, as $n \rightarrow \infty$ for every $x \in X$, and P_n^* is the dual of P_n with $\|P_n\| \leq \tilde{c} = \text{constant}$, for all n , have a unique solution $x_{\alpha n}$, and the sequence $\{x_{\alpha n}\}$ converges to x_α , as $n \rightarrow \infty$, without additional conditions on F_i , $i = 1, 2$. The convergence rates for the sequences $\{x_\alpha\}$ and $\{x_{\alpha n}\}$ are given in our recent paper [6] provided the linearity of F_2

together with the existence of bounded inversion $(I + F_2 F_1'(x_0))^{-1}$, where I denotes the identity operator in X . It is not difficult to verify that this condition can be replaced by the bounded inversion of $(I + F_2'(x_0^*) F_1'(x_0))^{-1}$, when F_2 also is nonlinear, where $x_0^* = F_1(x_0)$. The last requirement is equivalent to that -1 is not an eigenvalue of the operator $F_2'(x_0^*) F_1'(x_0)$ and is used in studying a method of collocation-type for nonlinear integral equations of Hammerstein type [7]. In general case, i. e. when both the operator F_i are nonlinear, it means that \mathcal{R} , the range of the operator $I + F_2'(x_0^*) F_1'(x_0)$, is the whole space X . It is natural to ask if we can estimate the convergence rates for the sequences $\{x_\alpha\}$, $\{x_{\alpha n}\}$, when \mathcal{R} is not the whole space X . For this purpose, only requiring that \mathcal{R} contains a necessary element of X , the convergence rates of $\{x_\alpha\}$ and $\{x_{\alpha n}\}$ are estimated in [8] on the base of the results and the technics in [9, 10].

If instead of F_2 and F_1 we know only their monotone continuous approximations F_2^h and F_1^h , respectively, such that

$$\begin{aligned} \|F_2^h x^* - F_2 x^*\| &\leq h g_2(\|x^*\|) \quad \forall x^* \in X^*, \\ \|F_1^h(x) - F_1(x)\| &\leq h g_1(\|x\|) \quad \forall x \in X, \end{aligned}$$

where $g_i(t)$, $i = 1, 2$, are some real nonnegative bounded function with $g_i(0) = 0$, the approximate solutions of (1) can be found by solving the following operator equation [11]

$$x + F_{2\alpha}^h F_{1\alpha}^h(x) = f, \quad (4)$$

where $F_{2\alpha}^h = F_2^h + \alpha V$, $F_{1\alpha}^h = F_1^h + \alpha U$. Equation (4) has, for each fixed $\alpha > 0$, $h > 0$, a unique solution, henthforth denoted by $x_{h\alpha}$. If h/α , and $\alpha \rightarrow 0$, then the sequence $\{x_{h\alpha}\}$ converges to the solution x_0 of (1). As $F_{2\alpha}^h$ and $F_{1\alpha}^h$ are both monotone and hemicontinuous, then equation

$$x + F_{2\alpha}^{hn} F_{1\alpha}^{hn}(x) = f_n, \quad (5)$$

where $F_{2\alpha}^{hn} = P_n F_{2\alpha}^h P_n^*$ and $F_{1\alpha}^{hn} = P_n^* F_{1\alpha}^h P_n$, has a unique solution (denoted by $x_{\alpha n}^h$), and the sequence $\{x_{\alpha n}^h\}$ converges to $x_{h\alpha}$, for each fixed $\alpha > 0$, $h > 0$, as $n \rightarrow +\infty$. The similar aspects with the similar conditions as in [6] for the sequences $\{x_{h\alpha}\}$ and $\{x_{\alpha n}^h\}$ are considered in [12]. In this paper, for the case of monotone perturbations F_2^h , F_1^h the convergence rates of $\{x_{h\alpha}\}$ and $\{x_{\alpha n}^h\}$ are investigated under another condition consisting of that the range of $F_2'(x_0^*) F_1'(x_0)^*$ contains some element of X .

Below, by “ $a \sim b$ ” we mean “ $a = O(b)$ and $b = O(a)$ ”, and the symbols \rightharpoonup and \rightarrow denote weak convergence and convergence in norm, respectively.

2. Main results. Assume that the dual mappings U_i , $i = 1, 2$, of the spaces X and X^* satisfy the following conditions

$$\langle U_i(y_1^i) - U_i(y_2^i), y_1^i - y_2^i \rangle \geq m_i \|y_1^i - y_2^i\|^{s_i}, \quad m_i > 0, \quad s_i \geq 0, \quad (6)$$

$$\|U_i(y_1^i) - U_i(y_2^i)\| \leq c_i(R_i) \|y_1^i - y_2^i\|^{v_i}, \quad 0 < v_i \leq 1, \quad (7)$$

where $y_1^i, y_2^i \in X$ or X^* on dependence of $i = 1$ or 2 , respectively, and $c_i(R_i), R_i > 0$, are the positive increasing functions on $R_i = \max\{\|y_1^i\|, \|y_2^i\|\}$.

The following theorem answers the question on convergence rates for $\{x_{h\alpha}\}$.

Theorem 1. *Let the following conditions hold:*

(i) F_1 is Frechet differentiable at some neighbourhood \mathcal{U}_0 of x_0 $s_1 - 1$ -times if $s_1 = [s_1]$, the integer part of s_1 , $[s_1]$ -times if $s_1 \neq [s_1]$, and F_2 is Frechet differentiable at some neighbourhood \mathcal{V}_0 of x_0^* $s_2 - 1$ -times, if $s_2 = [s_2]$, $[s_2]$ -times if $s_2 \neq [s_2]$;

(ii) there exists a constant $\tilde{L} > 0$ such that

$$\begin{aligned} \|F_1^{(k)}(x_0) - F_1^{(k)}(y)\| &\leq \tilde{L}\|x_0 - y\| \quad \forall y \in \mathcal{U}_0, \\ \|F_2^{(k)}(x_0^*) - F_2^{(k)}(y^*)\| &\leq \tilde{L}\|x_0^* - y^*\| \quad \forall y^* \in \mathcal{V}_0, \end{aligned}$$

for $F_i: k = s_i - 1$ if $s_i = [s_i]$, $k = [s_i]$ if $s_i \neq [s_i]$, and if $[s_i] \geq 3$, then $F_1^{(2)}(x_0) = \dots = F_1^{(k)}(x_0)$, and $F_2^{(2)}(x_0^*) = \dots = F_1^{(k)}(x_0^*) = 0$.

(iii) there exists an element $x^1 \in X$ such that

$$(I + F_2'(x_0^*)^* F_2'(x_0)^*)x^1 = F_2'(x_0^*)^* U_1(x_0) - U_2(x_0^*),$$

if $s_1 = [s_1]$ then $\tilde{L}\|x^1\| < m_1 s_1!$, and if $s_2 = [s_2]$ then $\tilde{L}\|F_1'(x_0)^* x^1 - U_1(x_0)\| < m_2 s_2!$.

Then, if α is chosen such that $\alpha \sim h^\rho, 0 < \rho < 1$, then

$$\|x_{h\alpha} - x_0\| \leq O(h^{\theta/s_1}), \quad \theta = \min\{\rho, 1 - \rho\}.$$

Proof. We set

$$A = m_1 \|x_{h\alpha} - x_0\|^{s_1} + m_2 \|x_{h\alpha}^* - x_0^*\|^{s_2}, \quad x_{h\alpha}^* = F_{1\alpha}^h(x_{h\alpha}).$$

It is easy to see that x_0 is a solution of (1) iff $z_0 = [x_0, x_0^*]$ is a solution of the following system of two operator equations

$$\begin{aligned} F_1(x) - x^* &= 0, \\ F_2(x^*) + x - f &= 0. \end{aligned}$$

Similarly, $x_{h\alpha}$ is a regularized solution of the operator equation (4) iff $z_\alpha = [x_{h\alpha}, x_{h\alpha}^*]$ is a solution of the following system of equations

$$\begin{aligned} F_1^h(x) + \alpha U_1(x) - x^* &= 0, \\ F_2^h(x^*) + \alpha U_2(x^*) + x - f &= 0. \end{aligned}$$

Basing on the properties (6) of U_1, U_2 and the above two systems of equations we have got

$$\begin{aligned} A &\leq \langle U_1(x_0), x_0 - x_{h\alpha} \rangle + \langle U_2(x_0^*), x_0^* - x_{h\alpha}^* \rangle + \\ &+ \frac{1}{\alpha} [\langle x_{h\alpha}^* - F_1'(x_{h\alpha}), x_{h\alpha} - x_0 \rangle + \langle f - x_{h\alpha} - F_2^h(x_{h\alpha}^*), x_{h\alpha}^* - x_0 \rangle]. \end{aligned} \tag{8}$$

We set $x^2 = U_1(x_0) - F_1'(x_0)^* x^1$. From condition (iii) of the Theorem it follows that x^1 and x^2 ($\in X^*$) satisfy the system of following equalities

$$\begin{aligned} F_1'(x_0)^* x^1 + x^2 &= U_1(x_0), \\ F_2'(x_0^*) x^2 - x^1 &= U_2(x_0^*). \end{aligned}$$

Therefore, it follows from (1), (8), and the monotonicity of F_i^h that

$$\begin{aligned} A &\leq \langle U_1(x_0), x_0 - x_{h\alpha} \rangle + \langle U_2(x_0^*), x_0^* - x_{h\alpha}^* \rangle + \\ &+ \frac{1}{\alpha} [\langle x_{h\alpha}^* - x_0^*, x_{h\alpha} - x_0 \rangle + \langle x_0 - x_{h\alpha}, x_{h\alpha}^* - x_0^* \rangle + \\ &+ [\langle F_1(x_0) - F_1^h(x_{h\alpha}), x_{h\alpha} - x_0 \rangle + \langle F_2(x_0^*) - F_2^h(x_{h\alpha}^*), x_{h\alpha}^* - x_0^* \rangle] \leq \\ &\leq \frac{Ch}{\alpha} (\|x_{h\alpha} - x_0\| + \|x_{h\alpha}^* - x_0^*\|) + \\ &+ \langle x^2, x_0 - x_{h\alpha} \rangle + \langle x^1, F_1'(x_0)(x_0 - x_{h\alpha}) \rangle + \\ &+ \langle -x^1, x_0^* - x_{h\alpha}^* \rangle + \langle x^2, F_2'(x_0^*)(x_0^* - x_{h\alpha}^*) \rangle, \end{aligned} \quad (9)$$

where C is a some positive constant such that $g_1(\|x_{h\alpha}\|)$, $g_2(\|x_{h\alpha}^*\|) \leq C$. First, consider the case $s_i = [s_i]$, $i = 1, 2$. As

$$\begin{aligned} F_1'(x_0)(x_0 - x_{h\alpha}) &= F_1(x_0) - F_1(x_{h\alpha}) + r_{h\alpha}, \\ F_2'(x_0^*)(x_0^* - x_{h\alpha}^*) &= F_2(x_0^*) - F_2(x_{h\alpha}^*) + \tilde{r}_{h\alpha}, \\ \|r_{h\alpha}\| &\leq \frac{\tilde{L}}{s_1!} \|x_{h\alpha} - x_0\|^{s_1}, \quad \|\tilde{r}_{h\alpha}\| \leq \frac{\tilde{L}}{s_2!} \|x_{h\alpha}^* - x_0^*\|^{s_2}, \end{aligned}$$

from the inequality (9) it follows

$$\begin{aligned} A &\leq \frac{Ch}{\alpha} (\|x_{h\alpha} - x_0\| + \|x_{h\alpha}^* - x_0^*\|) + \\ &+ \langle x^2, x_0 - x_{h\alpha} \rangle + \langle -x^1, x_0^* - x_{h\alpha}^* \rangle + \langle x^1, F_1(x_0) - F_1(x_{h\alpha}) \rangle + \\ &+ \langle x^2, F_2(x_0^*) - F_2(x_{h\alpha}^*) \rangle + \frac{\tilde{L}\|x^1\|}{s_1!} \|x_{h\alpha} - x_0\|^{s_1} + \\ &+ \frac{\tilde{L}\|x^2\|}{s_1!} \|x_{h\alpha}^* - x_0^*\|^{s_2} \leq \frac{Ch}{\alpha} (\|x_{h\alpha} - x_0\| + \|x_{h\alpha}^* - x_0^*\|) + \\ &+ \langle x^1, x_{h\alpha}^* - F_1(x_{h\alpha}) \rangle + \langle x^2, f - x_{h\alpha} - F_2(x_{h\alpha}^*) \rangle + \\ &+ \frac{\tilde{L}\|x^1\|}{s_1!} \|x_{h\alpha} - x_0\|^{s_1} + \frac{\tilde{L}\|x^2\|}{s_2!} \|x_{h\alpha}^* - x_0^*\|^{s_2} \leq \\ &\leq \frac{Ch}{\alpha} (\|x_{h\alpha} - x_0\| + \|x_{h\alpha}^* - x_0^*\|) + \end{aligned}$$

$$\begin{aligned}
 & + \alpha \langle x^1, U_1(x_{h\alpha}) \rangle + \alpha^2 \langle x^2, U_2(x_{h\alpha}^*) \rangle + \frac{\tilde{L} \|x^1\|}{s_1!} \|x_{h\alpha} - x_0\|^{s_1} + \\
 & + \frac{\tilde{L} \|x^2\|}{s_2!} \|x_{h\alpha}^* - x_0^*\|^{s_2} \leq \frac{Ch}{\alpha} (\|x_{h\alpha} - x_0\| + \|x_{h\alpha}^* - x_0^*\|) + \\
 & + \alpha (\|x^1\| \|x_{h\alpha}\| + \|x^2\| \|x_{h\alpha}^*\|) + \frac{\tilde{L} \|x^1\|}{s_1!} \|x_{h\alpha} - x_0\|^{s_1} + \\
 & + \frac{\tilde{L} \|x^2\|}{s_2!} \|x_{h\alpha}^* - x_0^*\|^{s_2}.
 \end{aligned}$$

Hence,

$$m_1 \left(1 - \frac{\tilde{L} \|x^1\|}{m_1 s_1!} \right) \|x_{h\alpha} - x_0\|^{s_1} \leq O(h^\rho + h^{1-\rho}). \tag{10}$$

Consequently,

$$\|x_{h\alpha} - x_0\| \leq O(h^{\theta/s_1}).$$

If $s_i \neq [s_i]$ for one or both the two numbers s_i , for example $s_1 \neq [s_1]$, then

$$\|r_{h\alpha}\| \leq \frac{\tilde{L}}{([s_1] + 1)!} \|x_{h\alpha} - x_0\|^{[s_1] + 1}$$

and the left-hand side of (10) will be replaced by

$$m_1 \left(1 - \frac{\tilde{L} \|x^1\|}{m_1 ([s_1] + 1)!} \right) \|x_{h\alpha} - x_0\|^{[s_1] + 1 - s_1} \|x_{h\alpha} - x_0\|^{s_1}.$$

Since $\|x_{h\alpha} - x_0\| \rightarrow 0$, and $[s_1] + 1 - s_1 > 0$, we have

$$1 - \frac{\tilde{L} \|x^1\|}{m_1 ([s_1] + 1)!} \|x_{h\alpha} - x_0\|^{[s_1] + 1 - s_1} \geq 1/2$$

for sufficiently small α . The case where $s_2 \neq [s_2]$ and both numbers s_1, s_2 are not integer is considered analogously. This remark completes the proof of the theorem.

Now, we establish convergence rates for the sequence $\{x_{\alpha n}^h\}$.

Theorem 2. Assume that the conditions of Theorem 1 hold, and α is chosen such that $\alpha \sim (h + \gamma_n)^\rho$, $1 < \rho < 1$, where

$$\gamma_n = \max \{ \|(I - P_n)x_0\|, \|(I - P_n)f\|, \|(I - P_n)x^1\|, \|(I^* - P_n^*)x_0^*\|, \|(I^* - P_n^*)x^2\| \},$$

and I^* denotes the identity operator in X^* . Then

$$\|x_{\alpha n}^h - x_0\| = O(h^\eta + \gamma_n^\mu),$$

$$\eta = \min \left\{ \frac{1-\rho}{s_1}, \frac{\rho}{s_1} \right\},$$

$$\mu = \min \left\{ \eta, \frac{\nu_1}{s_1 - 1}, \frac{\nu_2}{s_1} \right\}.$$

Proof. We set

$$B = m_1 \|x_{\alpha n}^h - x_{0n}\|^{s_1} + m_2 \|x_{\alpha n}^{h*} - x_{0n}^{h*}\|^{s_2},$$

with $x_{0n} = P_n x_0$, $x_{\alpha n}^{h*} = F_{1\alpha}^n(x_{\alpha n}^h)$ and $x_{0n}^{h*} = P_n^* x_0^*$. It is easy to see that $x_{\alpha n}^h$ is a solution of (5) iff $x_{\alpha n}^h$ and $x_{\alpha n}^{h*}$ are the solution of the following system of equations

$$F_{1n}^h(x) + \alpha U_1^n(x) - x^* = 0, \quad (11)$$

$$F_{2n}^h(x^*) + \alpha U_2^n(x^*) + x - f_n = 0 \quad (12)$$

with $U_1^n = P_n^* U_1 P_n$, $U_2^n = P_n U_2 P_n^*$, $F_{1n}^h = P_n^* F_1^h P_n$ and $F_{2n}^h = P_n F_2^h P_n^*$. From the monotone property of F_{in}^h , $i = 1, 2$, properties (6) of the dual mappings U_i , $i = 1, 2$, and (11), (12) it implies that

$$\begin{aligned} B &\leq \langle U_1^n(x_{0n}), x_{0n} - x_{\alpha n}^h \rangle + \langle U_2^n(x_{0n}^*), x_{0n}^* - x_{\alpha n}^{h*} \rangle + \\ &+ \frac{1}{\alpha} \left[\langle x_{\alpha n}^{h*} - F_{1n}^h(x_{\alpha n}^h), x_{\alpha n}^h - x_{0n} \rangle + \langle f_n - x_{\alpha n}^h - F_{2n}^h(x_{\alpha n}^{h*}), x_{\alpha n}^{h*} - x_{0n}^* \rangle \right] \leq \\ &\leq \langle U_1(x_{0n}), x_{0n} - x_{\alpha n}^h \rangle + \langle U_2(x_{0n}^*), x_{0n}^* - x_{\alpha n}^{h*} \rangle + \\ &+ \frac{1}{\alpha} \left[\tilde{C}h \left(\|x_{\alpha n}^h - x_{0n}\| + \|x_{\alpha n}^{h*} - x_{0n}^*\| \right) + \langle x_{\alpha n}^{h*} - F_{1n}(x_{0n}), x_{\alpha n}^h - x_{0n} \rangle + \right. \\ &\quad \left. + \langle f_n - x_{\alpha n}^h - F_{2n}(x_{0n}^*), x_{\alpha n}^{h*} - x_{0n}^* \rangle \leq \right. \\ &\leq \langle U_1(x_{0n}), x_{0n} - x_{\alpha n}^h \rangle + \langle U_2(x_{0n}^*), x_{0n}^* - x_{\alpha n}^{h*} \rangle + \\ &+ \frac{1}{\alpha} \left[\tilde{C}h \left(\|x_{\alpha n}^h - x_{0n}\| + \|x_{\alpha n}^{h*} - x_{0n}^*\| \right) + \langle F_1(x_0) - F_1(x_{0n}), x_{\alpha n}^h - x_{0n} \rangle + \right. \\ &\quad \left. + \langle F_2(x_0^*) - F_2(x_{0n}^*), x_{\alpha n}^{h*} - x_{0n}^* \rangle \right], \quad (13) \end{aligned}$$

where \tilde{C} is a some positive constant such that $g_1(\|x_{\alpha n}^h\|)$, $g_2(\|x_{\alpha n}^{h*}\|) \leq \tilde{C}$. First, consider the case $s_i = [s_i]$, $i = 1, 2$. By virtue of the properties of F_i we can write

$$F_1(x_{0n}) - F_1(x_0) = F_1'(x_0)(x_{0n} - x_0) + r_n,$$

$$F_2(x_{0n}^*) - F_2(x_0^*) = F_2'(x_0^*)(x_{0n}^* - x_0^*) + \tilde{r}_n,$$

$$\|r_n\| \leq \frac{\tilde{L}}{s_1!} \|(I - P_n)x_0\|^{s_1}, \quad \|\tilde{r}_n\| \leq \frac{\tilde{L}}{s_2!} \|(I^* - P_n^*)x_0^*\|^{s_2}.$$

On the other hand, from (7) it implies that

$$\langle U_1(x_{0n}), x_{0n} - x_{\alpha n}^h \rangle \leq c_1(R_1)\gamma_n^{s_1} \|x_{0n} - x_{\alpha n}^h\| + \langle U_1(x_0), x_{0n} - x_{\alpha n}^h \rangle,$$

where the second term of the right-hand side is estimated as follows

$$\begin{aligned} \langle U_1(x_{0n}), x_{0n} - x_{\alpha n}^h \rangle &= \langle U_1(x_0), x_{0n} - x_0 \rangle + \langle U_1(x_0), x_0 - x_{\alpha n}^h \rangle \leq \\ &\leq O(\gamma_n) + \langle x^1, F_1(x_0) - F_1(x_{\alpha n}^h) \rangle + \langle x^2, x_0 - x_{\alpha n}^h \rangle + \frac{\tilde{L}\|x^1\|}{s_1!} \|x_0 - x_{\alpha n}^h\|^{s_1}. \end{aligned}$$

In the similar way, we also have

$$\langle U_2(x_{0n}^*), x_{0n}^* - x_{\alpha n}^{h*} \rangle \leq c_2(R_2)\gamma_n^{\nu_2} \|x_{0n}^* - x_{\alpha n}^{h*}\| + \langle U_2(x_0^*), x_{0n}^* - x_{\alpha n}^{h*} \rangle$$

with the estimation

$$\begin{aligned} \langle U_2(x_0^*), x_{0n}^* - x_{\alpha n}^{h*} \rangle &\leq O(\gamma_n) + \langle x^2, F_2(x_0^*) - F_2(x_{\alpha n}^{h*}) \rangle + \langle x^1, x_0^* - x_{\alpha n}^{h*} \rangle + \\ &+ \frac{\tilde{L} \|x^2\|}{s_2!} \|x_0^* - x_{\alpha n}^{h*}\|^{s_2}. \end{aligned}$$

Since

$$\begin{aligned} \|x_0 - x_{\alpha n}^h\|^{s_1} &\leq O(\gamma_n) + \|x_{0n} - x_{\alpha n}^h\|^{s_1}, \\ \|x_0^* - x_{\alpha n}^{h*}\|^{s_2} &\leq O(\gamma_n) + \|x_{0n}^* - x_{\alpha n}^{h*}\|^{s_2}, \\ \langle x^1, F_1(x_0) - F_1(x_{\alpha n}^h) \rangle &= \langle x^1, x_0^* - x_{\alpha n}^{h*} \rangle + \langle x^1, x_{\alpha n}^{h*} - F_{1n}^h(x_{\alpha n}^h) \rangle - \\ &- \langle (I - P_n)x^1, F_1(x_{\alpha n}^h) \rangle \leq \\ &\leq O(\gamma_n) + \langle x^1, x_0^* - x_{\alpha n}^{h*} \rangle + \alpha \|x^1\| \|x_{\alpha n}^h\|, \\ \langle x^2, F_2(x_0^*) - F_2(x_{\alpha n}^{h*}) \rangle &= \langle x^2, -x_0 - x_{\alpha n}^h \rangle + \langle x^2, f - f_n \rangle + \\ &+ \langle x^2, f_n - x_{\alpha n}^h - F_{2n}^h(x_{\alpha n}^{h*}) \rangle - \langle (I_n^* - P_n^*)x^2, F_2(x_{\alpha n}^{h*}) \rangle \leq \\ &\leq O(\gamma_n) - \langle x^2, x_0 - x_{\alpha n}^h \rangle + \alpha \|x^2\| \|x_{\alpha n}^{h*}\|, \end{aligned}$$

(13) can be written in the form

$$\begin{aligned} m_1 \left(1 - \frac{\tilde{L} \|x^1\|}{m_1 s_1!} \right) \|x_{\alpha n}^h - x_{0n}\|^{s_1} &\leq m_1 \left(1 - \frac{\tilde{L} \|x^1\|}{m_1 s_1!} \right) \|x_{\alpha n}^h - x_{0n}\|^{s_1} + \\ + m_2 \left(1 - \frac{\tilde{L} \|x^2\|}{m_2 s_2!} \right) \|x_{\alpha n}^{h*} - x_{0n}^*\|^{s_2} &\leq O((h + \gamma_n)^{1-p} + \gamma_n^{\nu_1}) \|x_{\alpha n}^h - x_{0n}\| + \\ &+ O((h + \gamma_n)^{1-p} + \gamma_n^{\nu_2}) \|x_{\alpha n}^{h*} - x_{0n}^*\| + O((h + \gamma_n)^p). \end{aligned}$$

Because the sequence $\{x_{\alpha n}^{h*}\}$ is bounded (see [4]) from here it follows

$$\begin{aligned} \|x_{\alpha n}^h - x_{0n}\|^{s_1} &\leq O((h + \gamma_n)^{1-p} + \gamma_n^{\nu_1}) \|x_{\alpha n}^h - x_{0n}\| + \\ &+ O((h + \gamma_n)^{1-p} + (h + \gamma_n)^p + \gamma_n^{\nu_2}). \end{aligned}$$

Applying the relation

$$a, b, c > 0, \quad p > q > 0, \quad a^p \leq ba^q + c \Rightarrow a^p = O(b^p / (p - q) + c)$$

in [13] to the last inequality we obtain

$$\|x_{\alpha n}^h - x_{0n}\| = O(h^\eta + \gamma_n^\mu).$$

Therefore,

$$\|x_{\alpha n}^h - x_0\| = O(h^\eta + \gamma_n^\mu).$$

The case $s_i \neq [s_i]$ is considered in the similar way as in the proof of Theorem 1.

Remarks. 1. If S_0 contains more than one element, then F_1 and F_2 are affine on the sets S_0 and $F_1(S_0)$, respectively (see [2]). Therefore, the condition $F_1^{(2)}(x) = \dots = F_1^{(k)}(x) = 0$, $x \in S_0$, and $F_2^{(2)}(x^*) = \dots = F_2^{(k)}(x^*)$, $x \in F_1(S_0)$ is automatically satisfied. Moreover, $F_1'(x)$ and $F_2'(x^*)$ do not depend on x and x^* , respectively. Hence, condition (iii) of Theorem 1, in fact, is an existence condition of solution of a linear operator equation.

2. When X is the spaces of type $L_p(\Omega)$ or $W_p(\Omega)$, $1 < p < +\infty$: if $p = 2$ X is a Hilbert space and $U_i = I$, $s_i = 2$, $m_i = 1$, $v_i = 1$ and $c(R_i) \equiv 1$, and if $1 < p < 2$ we have $s_1 = 2$, $m_1 = p - 1$, $c(R_1) = p^{2^{2^{p-1}}} e^p L^{p-1}$, $e = \max\{2^p, 2R_1\}$, $1 < L < 3, 18$, $v_1 = p - 1$, and $s_2 = q$, $m_2 = 2^{2^{-q}}/q$, $c(R_2) = 2^q R_2^{q-2} \{q[q-1 + \max\{R_2, L\}]\}^{-1}$, $v_2 = 1$, $p^{-1} + q^{-1} = 1$. The case $p > 2$ is considered analogously [14, 15].

1. Brezis H., Browder F. Nonlinear integral equations and systems of Hammerstein's type // Adv. Math. – 1975. – 10. – P. 115–144.
2. Tartar L. Topics in nonlinear analysis. – Pris: Publ. d'Orsey Univ., 1978. – 544 p.
3. Vaclav D. Monotone operators and applications in control and network theory. – Amsterdam etc.: Elsevier, 1979. – 174 p.
4. Nguyen Buong. On solutions of the equations of Hammerstein type in Banach spaces // J. Math. Comput. and Math. Phys. – 1985. – 25, N° 8. – P. 1256–1280 (in Russian).
5. Vainberg M. M. Variational method and method of monotone operators. – M: Nauka, 1972. – 415 p. (in Russian).
6. Nguyen Buong. On approximate solution for operators equations of Hammerstein type // J. Comput. and Appl. Math. – 1996. – 75. – P. 77–86.
7. Kumar S. Superconvergence of a collocation-type method for Hammerstein equations // IMA J. Numer. Anal. – 1987. – 7. – P. 313–325.
8. Nguyen Buong. Convergence rates in regularization for Hammerstein equations // J. Math. Comput. and Math. Phys. – 1999. – 39, N° 4. – P. 561–566 (in Russian).
9. Nguyen Buong. Convergence rates in and finite-dimensional approximations for a class of ill-posed variational inequalities // Ukr. Math. J. – 1996. – 48, N° 1. – P. 1–9.
10. Nguyen Buong. On ill-posed problems in Banach spaces // Southeast. Asian Bull. Math. – 1997. – 21. – P. 95–103.
11. Nguyen Buong. On solution of Hammerstein's equation with monotone perturbations // Vietnam. Math. J. – 1985. – N° 3. – P. 28–32.
12. Nguyen Buong. Operator equations of Hammerstein type under monotone perturbative operators // Proc. NCNT Vietnam. – 1999. – 11. – P. 1–7.
13. Neubauer A. An a-posteriori parameter choice for Tikhonov regularization in Hilbert scales leading to optimal convergence rates // SIAM J. Numer. Math. – 1988. – 25. – P. 1313–1326.
14. Alber I. J., Notik A. I. Geometrical properties of Banach spaces and approximate methods for solving nonlinear operator equations // Dokl. Acad. Nauk SSSR. – 1984. – 276. – P. 1033–1037 (in Russian).
15. Ryazanitseva I. P. On the algorithm for solving nonlinear monotone equations with an unknown estimate input errors // J. Math. Comput. and Math. Phys. – 1989. – 29. – P. 1572–1576 (in Russian).

Received 11.08.97